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28.12 91 YO (Bayes' Theorem)
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(THT) T2 i Fekier 1 wiRekar @t A1d X Tohd ¢, J81 P, (BT
ﬁ‘aam)zg R T § o el few G @ g Freben ®
iIehdl S0 X Hehd &, a5 oH I8 o gan o & i 9 9 o 9
foentedl T 21 feh 901 21 9 o1 b1 Wf¥ehdl 3 L Hehd & foh 7%
e faeiy St (w9 <ife S 1) © frerrel 7 2 afk g5 fermen T8
g 1 W U 22 W8l oW don-1l % T Wl Hiaelw (Reverse)
WITehdl M HTH ® Saih e o B oiell el 1 g4 A el
yfas TR S oS 3 Sfaei™ WEehar d i o1 G &1 T
™ Gufgs® (Conditional) Wkl & SYAM g T ® oS-989 &
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28.12.1 Teh qfceyt wufe @ fausH

(Portition of a sample Space)
e E,,E,,....E Weyl gafe & fawem = fefa s &
If% o JTHq: TEYH &, THU T q1 SAH! WfFshdl TR 2
TR Y& | E,E,,.....E ¥ ufieel wafe S & fadsw @i
frefua #dt € afg
Q) EinEj=¢,i#ji,j=12,.....,n

(i) E,UE,u...UE_ =S
(i) P(Ei)>0,Vi=12,...,n
TNV & foIU HE e A T U | A’ Hiasel wafie S @
oM ©; iR

ANA'=¢ T AUA'=S
I-3@ AR wfaeel wufie fawem & fog feifea
T AINAJ=0, 1% j UAj= §ITI7123450

P(Ai) >0
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&l ALA,,.... A Tiaeel gafie S &1 faume 2
1 & E T agfessh

(Arbitarary) ¥ %, Sl
S @l ST |
T, E=ENS (~EcS)
=EN(A, UA,U...UAD)

orE = (ENA)UENA)U...0(ENAD)  ...(])

TEE N AT E N AjFHI: Aj TTAj & STEad € S ST
(disjoint) €|

3rd: STEg=Td ENA,EnA,,....ENA, (I&1 n=6)

E &1 faamsm 21
28.12.2 GHUT QTIhdT Rl THA

(Theorem of Total Probability)
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1=
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a,P(E) =P [LI__I)I(E A Ai)} = iP(E ~A) | e /Eg
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= Z P(AiNE)
i=1

= 2 P(AI)(E/ Al), (wwfaeier witredl & oM frm @)
i=1

aq P(E)=PA|))P(E/A|)+P(A,))P(E/A,))+......
+P(A,)P(E/ An)

a1 | P(E)= Y. P(A,)P(E/ AK)
k=1

o9 THT H1 HYA
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(Pairwise disjoint) & @@ 'ulAi = S.HHATSIT ff Bl S 8 St A,
1=

T A, AT W HE § 9o P(E) > 0. 7@
P(APE/A})
P(E)

_ P(AY.P(E/AY)

ZH:P(Ak).P(E/Ak)
k=1

P(A, /E)=

THIO: BH WA © TR wifeRar & Toe fem
P(ENA,)=P(E).P(A, /E),k=12,....n.
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